Chemistry 11

Review:  basic unit Conversions
1. If sugar is $8.50 for 10kg, what is the cost of:

a. 200g of sugar
b. 6 tonnes of sugar
(There are 1000g in one kg, and there are 1000kg in one tonne.)





2. Express 80 mg in micrograms.  (1mg = 0.001g ; 1μg = 1 x 10-6g)


3. Each school of sardines contains 2500 fish.  If there are 12 schools in a particular area of the Pacific Ocean, how many individual fish are there?



4. The metric unit of energy is the joule (J).  If 0.334 kJ of energy is required to melt 1g of ice, how many joules of heat are required to melt 2.55 kg of ice?



5. If one Mexican peso is worth 0.457 Canadian cents, how many pesos can you buy for $500 CAD?



6. How many years are there in 8.64 x 1016 nanoseconds?  (1ns = 1 x 10-9 s)



7. A satellite orbits the Earth at 3.1 x 104 km per hour.  How many seconds does it take to travel 1500 m?


8. A farmer wishes to sell 3 horses.  At the local market, each horse can be traded for 4 goats.  If each goat is worth 9 chickens, how many chickens can the farmer get for his three horses?

9. Use the following information to solve this question:

4 doomahickers = 1 thingamagig

5 whatzits = 3 doomahickers

2 thingers = 1 whatzit

One widget can be traded for 5 thingers.  How many doomahickers are needed to trade for 10 widgets?




10. One mole contains 6.02 x 1023 atoms.  If the mass of one mole of iron atoms is 55.8g, how many iron atoms are there in 100g of iron?



11. Use the following information to solve this question:
1 foot = 12 inches        1 yard = 3 feet        1 mile = 1760 yards        1 nautical mile = 2025.4 yards

a. How many inches are there in a mile?

b. How many feet are there in 25 nautical miles?





12. Use the following information to solve this question:
1 square foot = 144 inches2     1 yard2 = 9 feet2     1 acre = 4840 yd2     1 acre = 0.405 hectares

A forest fire has an area of 45 hectares.  How large is this area in square feet?
